SironG

PRODUCT CATALOG

POWER CHUCK

A STRONGHOLD BY PRECISION AND POWER



SPEC
Model

N-205A4
N-205A5
N-206A4
N-206A5
N-206A6
N-208A5
N-208A6
N-208A8
N-210A6
N-210A8
N-210A11

N-212A6

N-212A8

N-212A11

N-215A8
N-215A11
N-215A15

N-218A8
N-218A11
N-218A15
N-220A11
N-220A15
N-224A11
N-224A15
N-224A20
N-232A11
N-232A15
N-232A20

| Product schematic

1. Chucks are manufactured form high grade alloy steel. All

sliding surfaces are hardened and ground for accurate

actual running and long service repeatability.
2. Mounting : Adapter mounting for DIN 55026 spindles.

UNIT : mm

@33
@33
@45
@45
@45
@52
@52
@52
Q75
Q75
Q75

@91

@91

@91

@117.5
@117.5
@117.5
@117.5
@117.5
@117.5
2180
@180
@205
@205
@205
@230
@230
@230

10
10
12
12
12
16
16
16
19
e
19

23

23

23

23
23
23
23
23
23
23
23
26
26
26
34
34
34

5.4
5.4
55
5.5
55
7.4
7.4
7.4
8.8
8.8
8.8

10.6

10.6

10.6

10.6
10.6
10.6
10.6
10.6
10.6
10.6
10.6
12
12
12
18
18
18

1784
1784
2243
2243
2243
3558
3558
3558
4385
4385
4385

5812

5812

5812

7240
7240
7240
7240
7240
7240
9177
9177
9177
9177
9177
10197
10197
10197

3671
3671
5812
5812
5812
9075
9075
9075
11319
11319
11319

14990

14990

14990

18355
18355
18355
18355
18355
18355
23861
23861
23861
23861
23861
24472
24472
24472

28.5
28.5
28.5
28.5
28.5
26.5
26.5
26.5
27.5
27.5
27.5

29.5
27.5

29.5
275

29.5
27.5

23.5
23.5
23.5
23.5
23.5
23.5
30.6
30.6
26.5
26.5
26.5
29.5
29.5
29.5

7000
7000
6000
6000
6000
5000
5000
5000
4200
4200
4200

3300

3300

3300

2500
2500
2500
2000
2000
2000
1800
1800
1400
1400
1400
1200
1200
1200

7.8
9
15.5
14.7
17.3
25.8
25
29.3
41
38
48.4

62.5

59.5

69.9

125
118
138
146
138
191
215
202
332
317
286
530
515
485

0.020
0.023
0.065
0.062
0.073
0.190
0.184
0.217
0.370
0.340
0.436

0.809

0.770

0.912

2.255
2.241
2.822
3.961
3.744
5.183
7.355
6.910
18.199
17.376
15.677
43
43
42

M1036
M1036
M1246
M1246
M1246
M1552
M1552
M1552
M1875
M1875
M1875

MB2091
M2091

MB2091
M2091

MB2091
M2091

M2511S
M2511S
M2511S
M2511S
M2511S
M2511S
ML2816
ML2816
ML3320
ML3320
ML3320
ML3320
ML3320
ML3320

HJO5
HJO5
HJO6
HJ06
HJO6
HJO8
HJO8
HJO8
HJ10
HJ10
HJ10

HJ12

HJ12

HJ12

HJ15
HJ15
HJ15
HJ15
HJ15
HJ15
HJ24-1
HJ24-1
HJ24-1
HJ24-1
HJ24-1
HJ24-1
HJ24-1
HJ24-1

HCO05
HC05
HCO06
HC06
HCO06
HC08
HCO08
HC08
HC10
HC10
HC10

HC12

HC12

HC12

HC15
HC15
HC15
HC15
HC15
HC15
HC24-1
HC24-1
HC24-1
HC24-1
HC24-1
HC24-1
HC24-1
HC24-1

06-0135

26-0135
J15-0169
@15-0169
J15-0169
@20-0210
@20-0210
@20-0210
@25-0254
025-0254
@25-0254

@30-2304

@30-0304

@30-0304

@50-0381
250-0381
@50-0381
@50-0450
@50-0450
@50-0450
@120-0510
©120-0510
@150-0610
©150-0610
@150-0610
©210-0800
@210-0800
@210-0800



HJFEEN-205~N-218 Serration Pitch 1.5
HEEEN-220~N-224 Serration Pitch 3.0

J B E 120°x3pcs : N-205
JIr- B 15° : N-206~N-218
30° : N-220~N-224

UNIT : mm
Model
N-205A4 135 71 110 14 15 63513 96 8255 1553-M10 33 4 265 1975 775 16 6 10 20 25 M40x1.5 3-M6 44.531 62 Fig-1
N-205A5 135 88 110 14 32 82.563 8255 104.78 14 3-M10 33 4 26,5 19.75 7.75 33 23 10 20 25 M40x1.5 6-M1044.531 62 Fig-3
N-206A4 169 96 140 20 20 63.513 104.78 8255 16 6-M10 45 32 2275 925 31 19 2 12 19 31 M55x2 6-M10 60 37 73 Fig-2
N-206A5 169 91 140 20 15 82563 116 104.78 16 6-M10 45 32 2275 925 26 14 12 19 31 M55x2 3-M6 60 37 73 Fig-1
N-206A6 169 111 140 20 35 106.375 104.78 133.35 16 6-M10 45 12 19 31 M55x2 6-M12 60 37 73 Fig-3
N-208A5 210 109 170 25 23 82.563 133.35 104.78 14 6-M12 52 14 20.5 35 M60x2 6-M10 66 38 95 Fig-2
N-208A6 210 103 170 25 17 106.375 150 133.35 18 6-M12 52 14 205 35 M60x2 3-M6 66 38 95 Fig-1
N-208A8 210 126 170 25 40 139.719 133.35 171.45 24 6-M12 52 14 20.5 35 M60x2 6-M16 66 38 95 Fig-3
N-210A6 254 120 220 30 25 106.375 171.45 133.35 18 6-M16 75 16 25 40 M85x2 6-M12 94 43 110 Fig-2
N-210A8 254 113 220 30 18 139.719 190 17145 24 6-M16 75 16 25 40 M85x2 3-M8 94 43 110 Fig-1
N-210A11 254 145 220 30 50 196.869 17145 235 28 6-M16 75 16 25 40 M85x2 6-M20 94 43 110 Fig-3
N-212A6 304 129 220 30 25 106.375 171.45 133.35 18 6-M16 91 21 28 50 M100x2 6-M12 108 51 130 Fig-2
N-212A8 304 122 220 30 18 139.719 190 17145 25 6-M16 91 21 28 50 M100x2 3-M8 108 51 130 Fig-1
N-212A11 304 154 220 30 50 196.869 171.45 235 28 6-M16 91 21 28 50 M100x2 6-M20 108 51 130 Fig-3
N-215A8 381 160 300 43 33 139.719 235 17145 24 6-M20 117.5 22 43 62 M130x2 6-M16 139 66 165 Fig-2
N-215A11 381 149 300 43 22 196.869 260 235 28 6-M20 117.5 22 43 62 M130x2 3-M10 139 66 165 Fig-1
N-215A15 381 184 300 43 57 285.775 235 3302 29 6-M20 117.5 22 43 62 M130x2 6-M24 139 66 165 Fig-3
N-218A8 450 160 300 43 33 139.719 235 171.45 24 6-M20 117.5 22 43 62 M130x2 6-M16 139 66 165 Fig-2
N-218A11 450 149 300 43 22 196.869 260 235 28 6-M20 117.5 22 43 62 M130x2 3-M10 139 66 165 Fig-1
N-218A15 450 184 300 43 57 285.775 235 3302 29 6-M20 117.5 22 43 62 M130x2 6-M24 139 66 165 Fig-3
N-220A11 510 169 380 60 41 196.869 330.2 235 30 6-M24 180 25 38 64 M190x3 6-M20 206 73 180 Fig-2
N-220A15 510 155 380 60 27 285.775 330.2 330.2 33 6-M24 180 25 38 64 M190x3 3-M12 206 73 180 Fig-1
N-224A11 610 186 520 60 45 196.869 463.6 235 28 6-M24 205 25 38 64 M215x3 6-M20 230 73 180 Fig-2
N-224A15 610 183 520 60 42 285.775 463.6 330.2 32.5 6-M24 205 1319 875 245 58 32 25 38 64 M215x3 6-M24 230 73 180 Fig-2
N-224A20 610 166 520 60 25 412.775 463.6 463.6 35 6-M24 205 1319 875 245 41 15 25 38 64 M215x3 3-M10 230 73 180 Fig-1
N-232A11 800 189 520 60 45 196.869 463.6 235 28 6-M24 230 6 162 1535 245 61 27 25 38 64 M250x3 6-M20 262 73 180 Fig-2
N-232A15 800 186 520 60 42 285.775 463.6 330.2 325 6-M24 230 6 162 1535 245 58 24 25 38 64 M250x3 6-M24 262 73 180 Fig-2
N-232A20 800 169 520 60 25 412.775 463.6 4636 35 6-M24 230 6 162 1535 245 41 7 25 38 64 M250x3 3-M10 262 73 180 Fig-1

(6]

32 2275 925 46 34
38.7 29.75 11.75 37.5 21.5
38.7 29.75 11.75 315 155
38.7 29.75 11.75 54.5 38.5
51.4 33.75 14.25 33.5 14.5
514 33.75 14.25 26,5 7.5
51.4 33.75 14.25 58.5 39.5
61.3 45.75 1575 33 10
613 4575 1575 26 3

61.3 45.75 1575 58 35
82 45251525 40 17
82 45251525 29 6

82 45251525 64 41

82 79.75 1525 40 17
82 79.75 1525 29 6

82 79.75 1525 64 41

1125 605 245 52 29
1125 605 245 38 15
1319 875 245 61 35

o o o O O O O O O o o o o o o o g o g oo o

[}
o o o o o o g o o o a0 g a o DD D D D D N DN D DD N DD DD DN



N-200

3-jaw through-hole power chuck
(adapter excluded)

- Chucks are manufactured form high grade alloy steel. All
sliding surfaces are hardened and ground for accurate
actual running and long service repeatability.

HEEN-204~N-218 Serration Pitch 1.5
HEEN-220~N-224 Serration Pitch 3.0

— '

[ Product schematic | o ©
1> {}
o 7
z , ! :
%‘ T QN
<
= ¢ AR AL
S)
1S
™
» N?

O)/ 120°x3pcs : N-204,N-205
15° : N-206~N-218
30° : N-220~N-224

UNIT : mm
SPEC
Model
N-204 026 10 5.4 1428 2906 31.6 8000 4 0.007 MO928A  HJO5  HCO4 24-9110
N-205 @33 10 5.4 1784 3671 28.5 7000 7 0.018 M1036 HJO5  HCO05  ©6-9135
N-206 045 12 5.5 2243 5812 28.5 6000 135 0.057 M1246 HJOB  HC06  ©15-0169
N-208 @52 16 7.4 3558 9075 26.5 5000 23 0.17 M1552 HJO8  HCO08  ©20-9210
N-210 Q75 19 8.8 4385 11319 27.5 4200 35 0.315 M1875 HJ10  HC10  ©25-0254
. 291 23 10.6 5812 29.5 3300 565 0.737 MB2091 HJ12  HC12  ©30-0304
1L Ll 27.5 M2091
N-215  @1175 23 10.6 7240 18355 235 2500 111 227 M2511S HJ15  HC15  ©50-0381
N-218 @117.5 23 10.6 7240 18355 235 2000 131 B155) M2511S HJ15 HC15 @50-3450
N-220 @180 23 10.6 9177 23861 30.6 1800 190 6.5 ML2816  HJ24-1 HC24-1  ©120-0510
N-224 205 26 12 9177 23861 26.5 1400 270 14.8 ML3320  HJ24-1 HC24-1 ©150-0610
N-232 @230 34 18 10197 24472 29.5 1200 470 41 ML3320  HJ24-1 HC24-1  ©210-0800

Model

N-204 110 59 85 14 70.6 16 3-M10x60 26 4 23 1125 525 35 -65 2 10 175 23 M32x1.5 38 24 495
N-205 135 60 110 14 8255 15 3-M10x60 33 4 265 19.75 7.75 1 -9 2 10 20 25 M40x1.5 445 31 62
N-206 169 81 140 20 104.78 16 6-M10x80 45 5 32 2275 925 11 -1 2 12 19 31 M55x2 60 37 73
N-208 210 91 170 25 133.35 20 6-M12x90 52 5 387 2975 1175 145 -15 2 14 205 35 M60x2 66 38 95
N-210 254 100 220 30 17145 22 6-M16x100 75 5 514 3375 1425 85 -105 2 16 25 40 M85x2 94 43 110
N-212 304 110 220 30 171.45 23 6-M16x110 91 6 613 4575 1575 8 -15 2 21 28 50 M100x2 108 51 130
N-215 381 133 300 43 235 30 6-M20x135 1175 6 82 4525 1525 7 -16 5 22 43 62 M130x2 139 66 165
N-218 450 133 300 43 235 30 6-M20x135 1175 6 82 79.75 1525 7 -16 5 22 43 62 M130x2 139 66 165
N-220 510 134 380 60 330.2 35 6-M24x135 180 6 1125 605 245 11 -12 5 25 38 64 M190x3 206 73 180
N-224 610 147 520 60 463.6 35 6-M24x150 205 6 1319 875 245 16 -10 5 25 38 64 M215x3 230 73 180
N-232 800 150 520 60 463.6 35 6-M24x150 230 6 162 153.5 245 16 -18 5 25 38 64 M250x3 262 73 180



. NT-200

2-jaw through-hole power chuck
(adapter excluded)

- Chucks are manufactured form high grade alloy steel. All
sliding surfaces are hardened and ground for accurate
actual running and long service repeatability.

| Product schematic | X HEES Serration Pitch 1.5
T
| NT-205
— - Y 2]
: : © ?
Bl - —+—1 > @ I
o N
w (LD
<2 - ©
=
SEEER R B - - [
& o

UNIT : mm

SPEC

Model

NT-205 @33 10 5.4 1189 2447 19.5 7000 6.8 0.017 M1036 HJ05 HCO05 06-0135
NT-206 @45 12 5.5 1495 3875 18.9 6000 12.8 0.054 M1246 HJ06 HCO06 @15-0169
NT-208 @52 16 7.4 2366 5975 18.4 5000 22 0.163 M1552 HJ08 HCO08 020-0210
NT-210 a75 19 8.8 2927 7546 18.4 4200 34 0.306 M1875 HJ10 HC10 @25-0254

20.4 MB2091
NT-212 291 23 10.6 3875 9993 18.4 3300 55 0.717 M2091 HJ12 HC12 @30-0304
NT-215 @117.5 23 10.6 4823 12236 15.3 2500 106 2.17 M25118 HJ15 HC15 @50-0381
NT-218 ©1175 23 10.6 4823 12236 15.3 2000 122 3.31 M2511S HJ15 HC15 @50-0450
DIM
Model

10 20 25 M40x1.5 445 31 62
12 19 31 M55x2 60 37 73
14 205 35 M6Ox2 66 38 95
M85x2 94 43 110
21 28 50 M100x2 108 51 130
22 43 62 M130x2 139 66 165
22 43 62 M130x2 139 66 165

NT-205 135 60 110 14 8255 15 4-M10x60 33 4 265 19.75 7.75 1 -9

NT-206 169 81 140 20 104.78 16 6-M10x80 45 5 32 2275 925 11 =l

NT-208 210 91 170 25 133.35 20 6-M12x90 52 5 387 29.75 11.75 145 -15

NT-210 254 100 220 30 17145 22 6-M16x100 75 5 514 3375 1425 85 -10.5

NT-212 304 110 220 30 171.45 23 6-M16x110 91 6 613 4575 1575 8 -15

NT-215 381 133 300 43 235 30 6-M20x135 1175 6 82 4525 1525 7 -16
6

NT-218 450 133 300 43 235 30 6-M20x135 117.5 82 79.75 1525 7 -16

a g NN D NDN
-
o
N
[&)]
IS
o



_—__  NIT-200

4-jaw through-hole power chuck
(adapter excluded)

- Chucks are manufactured form high grade alloy steel. All sliding
surfaces are hardened and ground for accurate actual running and
long service repeatability.

| Product schematic | X g Serration Pitch 1.5
L7/(NIT-224 Pitch 3.0)
1 I i 17
[m]
u |l I=nu
@]
pzd
©
<| T ]
SIS
IS
K M
B
UNIT : mm
SPEC
Model
NIT-206 @45 12 55 2243 5812 28.5 4500 137 0.058 M1246  HJ0B HCOB  @15-0169
NIT-208 @52 16 7.4 3558 9075 26.5 3600 24 0.177 M1552 HJo8 HCO8  ©20-0210
NIT-210 @75 19 8.8 4385 11319 27.5 3200 36 0.324 M1875 HJ10 HC10  @25-0254
] 29.5 MB2091 '
NIT-212 @91 23 106 5812 14990 e 2700 585 0.763 001 HJ12 HC12  ©30-0304
NIT-215 ©1175 23 106 7240 18355 23.5 1900 114 2331 M2511S  HJ15 HC15  @50-0381
NIT-218 ©1175 23 106 7240 18355 235 1500 140 3798  M2511S  HJ15 HC15  ©50-@450
NIT-224 @205 26 12 9177 23861 26.5 1000 284 15.2 ML3320 HJ24-1  HC24-1  @150-0610
DIM
Model

NIT-206 169 81 140 20 104.78 16 4-M10x80 45
NIT-208 210 91 170 25 133.35 20 4-M12x90 52
NIT-210 254 100 220 30 17145 22 4-M16x100 75
NIT-212 304 110 220 30 171.45 23 4-M16x110 91
NIT-215 381 133 300 43 235 30 4-M20x135 117.5
NIT-218 450 133 300 43 235 30 4-M20x135 117.5
NIT-224 610 147 520 60 463.6 35 8-M24x150 205

32 2275 925 11 -1
38.7 29.75 11.75 145 -15
51.4 3375 1425 85 -10.5
4575 1575 8 -15

82 4525 1525 7 -16

82 79.75 1525 7 -16
1319 875 245 16 -10

12 19 31 M55x2 60 37 73

14 205 35 Me60x2 66 38 95

16 25 40 M85x2 94 43 110
M100x2 108 51 130
22 43 62 M130x2 139 66 165
22 43 62 M130x2 139 66 165
25 38 64 M215x3 230 73 180

o o o o o o o
(o]
=
w
a a o N D NN
N
—
N
o]
(6]
o



NHT-200

2-jaw and 3-jaw through-hole power chuck
(adapter included)

1. Gripping of round or irregular workpiece does not need to change the
chuck.

. Chucks are manufactured form high grade alloy steel. All sliding
surfaces are hardened and ground for accurate actual running and

long service repeatability.
3. Mounting : Adapter mounting for DIN 55026 spindles.

N

[ Product schematic |

) #i#% Serration Pitch 1.5
Fig-1 X T

T T
‘ : %
Ere=3 T N
., ol °
D 1> y L
5{\ o
~ %)
=
pz4 |
U ]
38 &3 : A -
Fig-2 B PN
ol ! °
f=)
g = 5
iy et e x| — §
~ ‘bQ
ng Y c
LE | M 30° 20!
J B E
J B
UNIT : mm
SPEC
Model
NHT-208A5 @52 16 7.4 2192 /1590 5608 / 3997 17.3/13.3 3500 26.2 M1552 HJ06 HC08-1 ©20-@210
NHT-208A6 @52 16 7.4 2192 /1590 5608 / 3997 17.3/13.3 3500 25 M1552 HJ06 HCO08-1 ©@20-0210

DIM
Model
NHT-208A5 210 113 170 20 23 82.563 133.35 104.78 14 6xM12 52 5 41.8 34 7.5 37.5 21.5 2 12 20.5 35 M60x2 6xM10 66 38 73 Fig-2

NHT-208A6 210 107 170 20 17 106.375 150 133.35 17 6xM12 52 5 41.8 34 7.5 315 155 2 12 20.5 35 M60x2 3xM6 66 38 73 Fig-1



NB-200A

3-jaw extra large through-hole power chuck
(adapter included)

1. More large bore:

The largest bore in wedge type power operated chucks.

2. 20% large bore:

Approximately 20% higher speed, higher gripping force and larger
bore compared with regular chucks.

3. Chucks are manufactured form high grade alloy steel. All sliding
surfaces are hardened and ground for accurate actual running and
long service repeatability.

4. Mounting : Adapter mounting for DIN 55026 spindles.

[ Product schematic |

UNIT : mm
Model
NB-306A5 @52 12 5.4 2243 5812 18.4 6000 14 0.06 M1552 HJ06 HCo06 @20-0170
NB-306A6 @52 12 5.4 2243 5812 18.4 6000 15.6 0.087 M1552 HJ06 HCO06 @20-@170
NB-208A6 266 16 7.4 3558 9075 22.0 5000 24 0.14 M1768 HJ08 HCO08 @26-0210
NB-210A8 @78 19 8.8 4385 11319 27.5 4200 37.4 0.4 M1878 HJ10 HC10 ©36-0256
NB-310A8 @81 19 8.8 4976 12848 31.5 4500 36.4 0.33 MK1881 HJ10 HC10 @37-0254
NB-212A8 @122 23 10.6 5812 14990 20.5 3200 722 1.04 M2511S HJ12 HC12 ©59-0315
NB-212A11 @122 23 10.6 5812 14990 20.5 3200 65 0.95 M2511S HJ12 HC12 @59-@315
NB-215A15 @142 23 10.6 7240 18355 255 2500 130 3.0 ML2816 HJ15 HC15 ©60-0405

NB-218A15 ©166.5 23 10.6 7240 18355 25.5 2000 161 4.77 ML2816 HJ15 HC15 @78-0457



#F &5 Serration Pitch 1.5

15° : NB-306~NB-212
30° : NB-215~NB-218

-
N ®
fa
ot B L
\/( , )(
A 82 T B
Y R\
o N ~
/ i \
g TRIR
== ® :
= — x| -—-—F-—-—IH'
_ _|_ i | '@ [ -
3' |
> i
e}
E \ K M s L;_] Z4
J B E
J B Z2
DIM
Model
NB-306A5 170 91 140 20 15 82.563 116 104.78 14.5 6-M10 52 5 37 18.25 9.25 26 14
NB-306A6 170 111 140 20 85 106.375 104.78 133.35 16 6-M10 52 5} 37 18.25 9.25 46 34
NB-208A6 210 103 170 25 17 106.375 150 133.35 19.5 6-M12 66 5 45.7 23.75 11.75 31.5 15.5
NB-210A8 256 113 220 30 18 139.719 190 171.45 24 6-M16 78 5 58] BB 14.25 26.5 7.5
NB-310A8 254 113 220 30 18 139.719 190 171.45 24 6-M16 81 5 54 32.25 14.25 26.5 7.5
NB-212A8 315 145 300 30 & 139.719 285 171.45 24 6-M20 122 6 79.5 BB 11.25 58] 30
NB-212A11 315 134 300 30 22 196.869 260 235 28 6-M20 122 6 79.5 33.75 11.25 42 19
NB-215A15 405 154 380 43 27 285.775 330.2 330.2 33 6-M24 142 6 93.5 45.25 15.25 34 1
NB-218A15 457 154 380 43 27 285.775 330.2 330.2 33 6-M24 166.5 6 102 63.25 18.25 34 11
DIM
Model
NB-306A5 2 12 20 31 M60x2 3-M6 65 37 73 16 36 65 M8x15 63 Fig-1
NB-306A6 2 12 20 31 M60x2 6-M12 65 37 73 16 36 65 M8x15 63 Fig-3
NB-208A6 2 14 20 35 *M75x2 3-M6 80 38 95 16 45 80 M8x15 78 Fig-1
NB-210A8 2 16 25 40 M87x2 3-M8 94 43 110 16 60 102 M10x20 91 Fig-1
NB-310A8 2 16 25 40 M90x2 3-M8 97 43 110 16 60 102 M10x20 91 Fig-1
NB-212A8 2 21 28 50 M135x2 6-M16 143 51 130 20 60 138 M10x10 123 Fig-2
NB-212A11 2 21 28 50 M135x2 3-M10 143 51 130 20 60 138 M10x10 123 Fig-1
NB-215A15 5 22 43 62 M155x2 3-M12 164 66 165 20 80 160 M12x22 145 Fig-1
NB-218A15 5 22 43 62 M180x3 3-M12 189 66 165 20 100 160 M12x22 145 Fig-1

*Standard thread M74x2



Vv

3-jaw wedge type non through-hole
power chuck (adapter excluded)

- The chuck is made of high-grade alloy steel, and all sliding surfaces
are surface-hardened and ground to improve rotation accuracy and
durability.

| Product schematic |

B4 Serration Pitch 1.5

S P X T
|
. . @
V-205 —E ol > - @
[E 1l
— : __i} =] | N S | T ,___E,LS___\ : _
B T M_; — = ZN
V-205(J) ] T i ; |
s 1l h o
__|_____|j @/S}X\ 2
K M &
B 0° =V-205
15°=V-206~V-218
UNIT : mm
Model
V-205 15 6.4 836 2570 22.4 5500 6.3 0.015 MH80 HJ05 HCO5 @6-0135
V-206 20 9.2 1835 5353 26.5 5200  12.7 0.048 MS105C HJ06 HCO06 ?18-0165
V-208 21 9.7 2549 7648 25.5 4500  23.8 0.137 MS125C HJ08 HCOo8 @26-0210
V-210 25 8.8 2957 11013 28.6 4000  36.4 0.3 MS125C HJ10 HC10 026-0254
V-212 30 10.5 4181 15907 27.5 3300 623 0.78 MS150C  HJ12-1 HC12-1 ©26-0304
V-215 35 16 8362 25391 32.6 3000 106 1.94 MS200C  HJ15-1 HC15-1 068-0381
V-218 35 16 8362 25391 32.6 2700 122 3.09 MS200C  HJ15-1 HC15-1 ©98-0450

Model

V-205 135 55 80 14 100 14 3-M8x60 — 7 305 16.75 6.25 9 -6 3 10 35 25 M12x1.75 28 32 62
V-206 165 74 140 20 104.78 14 6-M10x70 21 5 387 1525 775 1046 846 4 12 36 31 M16x2.0 34 39 73
V-208 210 85 170 25 133.35 20 6-M12x85 25 5 46.75 2225 8.75 132 111 5 14 36 35 M20x25 38 41 95
V-210 254 89 220 30 17145 18 6-M16x85 34 5 511 30.75 9.75 158 133 5 16 36 40 M20x25 45 46 110
V-212 304 106 220 30 17145 23 6-M16x105 34 6 61 48.75 9.75 163 133 5

V-215 381 114 300 43 235 29 6-M20x115 — 6 77.5 49.75 2125 104 69 2

V-218 450 114 300 43 235 29 6-M20x115 — 6 108 49.75 21.25 92 57 2

18 36 50 M20x2.5 50 54 130
255 55 62 M30x3.5 60 63 165
255 55 62 M30x3.5 60 63 165



| Product schematic

VT&VIT

2-jaw and 4-jaw wedge type non
through-hole power chuck (adapter excluded)

- Used to hold special shape work pieces, such as square bar or flanges
which is not possible clamping by 3 jaw chuck.

i Serration Pitch 1.5

S P X 7
la}
_r ol >
z
T —
—
SE—FFFz I
TS =
T =
<| © J
| © - .
e
K M
B
SPEC
Model
VT-206 2 20 9.2 1224 3569 17.3
VT-208 2 21 9.7 1683 5098 16.3
VT-210 2 25 8.8 1988 7342 19.4
VT-212 2 30 10.5 2804 10605 18.4
VIT-212 4 30 10.5 4181 15907 27.5
VT-215 2 35 16 5557 16927 21.7
VIT-218 4 35 16 8362 25391 32.6

[ e —a

(SN A

VIT

UNIT : mm

5200
4500
4000
3300
2800
3000
2300

12.3
23.1
35.1
60.3
64.3
102.6
127

0.045
0.13
0.29

0.7
0.77
1.89
3.21

MS105C
MS125C
MS125C
MS150C
MS150C
MS200C
MS200C

HJo6
HJo8
HJ10

HJ12-1

HJ12-1

HJ15-1

HJ15-1

HCO06

HC08

HC10
HC12-1
HC12-1
HC15-1
HC15-1

018-0165
@26-0210
026-0254
026-0304
026-0304
268-0381
98-0450

DIM
Model

VT-206
VT-208
VT-210
VT-212
VIT-212
VT-215
VIT-218

165
210
254
304
304
381
450

140
170
220
220
220
300
300

104.78
133.35
171.45
171.45
171.45
235
235

4-M10x70

6-M12x85

6-M16x85
6-M16x105
4-M16x105
6-M20x115
4-M20x115

38.7 15.25
46.75 22.25
51.1 30.75
61 48.75
61 48.75
77.5 49.75
108 49.75

7.75
8.75
9.75
ON5
9.75
21.25
21.25

104.6 84.6

132
158
163
163
104
92

111

M16x2.0
M20x2.5
M20x2.5
M20x2.5
M20x2.5
M30x3.5
M30x3.5



SPEC
Model

V-206A4
V-206A5
V-206A6
V-208A5
V-208A6
V-208A8
V-210A6
V-210A8
V-210A11
V-212A6
V-212A8
V-212A11
V-215A8
V-215A11
V-215A15
V-218A8
V-218A11
V-218A15

| Product schematic

VA

3-jaw wedge type non through-hole

power chuck (adapter included)

1. The chuck is made of high-grade alloy steel, and all sliding surfaces
are surface-hardened and ground to improve rotation accuracy and
durability.

2. Installation: Comply with DIN 55026 spindle standard.

UNIT : mm

20
20
20
21
21
21
25
25
25
30
30
30
35
35
35
35
35
35

9.2
9.2
9.2
9.7
9.7
9.7
8.8
8.8
8.8
10.5
10.5
10.5
16
16
16
16
16
16

1835
1835
1835
2549
2549
2549
2957
2957
2957
4181
4181
4181
8362
8362
8362
8362
8362
8362

5353
5353
5353
7648
7648
7648
11013
11013
11013
15907
15907
15907
25391
25391
25391
25391
25391
25391

26.5
26.5
26.5
25.5
255
25.5
28.6
28.6
28.6
27.5
27.5
27.5
32.6
32.6
32.6
32.6
32.6
32.6

5200
5200
5200
4500
4500
4500
4000
4000
4000
3300
3300
3300
3000
3000
3000
2700
2700
2700

14.5
13.9
15.8
26.8
25.6
30
41.8
39.6
50
67.6
65.5
75.9
119
113
132
136
129
148

0.062
0.056
0.059
0.154
0.147
0.172
0.35
0.33
0.417
0.76
0.75
0.888
212
2.05
2.56
3.28
3.20
3.71

MS105C
MS105C
MS105C
MS125C
MS125C
MS125C
MS125C
MS125C
MS125C
MS150C
MS150C
MS150C
MS200C
MS200C
MS200C
MS200C
MS200C
MS200C

HJ06
HJ06
HJ06
HJO8
HJO8
HJO8
HJ10
HJ10
HJ10
HJ12-1
HJ12-1
HJ12-1
HJ15-1
HJ15-1
HJ15-1
HJ15-1
HJ15-1
HJ15-1

HCO06
HC06
HCO06
HC08
HCO08
HC08
HC10
HC10
HC10
HC12-1
HC12-1
HC12-1
HC15-1
HC15-1
HC15-1
HC15-1
HC15-1
HC15-1

018-0165
218-0165
J18-0165
@26-0210
@26-0210
©26-0210
026-0254
@26-0254
026-0254
©26-0304
026-0304
©26-0304
J68-0381
068-0381
J68-0381
©98-0450
298-0450
@98-0450



HE#% Serration Pitch 1.5

o[ D

'
’ / ‘ N\

B

N

15°=V-206~V-218
30°=V-221~V-232

UNIT : mm
Model
V-206A4 165 89 140 20 20 63.513 104.78 82.55 16 6-M10 21 5 38.7 1525 7.75 84.6 646 4 12 36 31 M16x2.0 6-M10 34 39 73 Fig2
V-206A5 165 84 140 20 15 82563 116 104.78 14 6-M10 21 5 387 1525 7.75 89.6 69.6 4 12 36 31 M16x2.0 3-M6 34 39 73 Figl
V-206A6 165 104 140 20 35 106.375 104.78 133.35 16 6-M10 21 5 38.7 1525 7.75 69.6 496 4 12 36 31 M16x2.0 6-M12 34 39 73 Fig3
V-208A5 210 103 170 25 23 82.563 133.35 104.78 14 6-M12 25 5 46.75 2225 875 109 88 5 14 36 35 M20x2.5 6-M10 38 41 95 Fig2
V-208A6 210 97 170 25 17 106.375 150 133.35 18 6-M12 25 5 46.75 2225 875 115 94 5 14 36 35 M20x25 3-M6 38 41 95 Figl
V-208A8 210 120 170 25 40 139.719 133.35 171.45 24 6-M12 25 5 46.75 2225 875 92 71 5 14 36 35 M20x2.5 6-M16 38 41 95 Fig3
V-210A6 254 109 220 30 25 106.375 171.45 133.35 18 6-M16 34 5 51.1 30.75 9.75 133 108 5 16 36 40 M20x2.5 6-M12 45 46 110 Fig2
V-210A8 254 102 220 30 18 139.719 190 171.45 25 6-M16 34 5 51.1 30.75 9.75 140 115 5 16 36 40 M20x2.5 3-M8 45 46 110 Figl
V-210A11 254 134 220 30 50 196.869 171.45 235 28 6-M16 34 5 51.1 30.75 9.75 108 83 5 16 36 40 M20x2.5 6-M20 45 46 110 Fig3
V-212A6 304 125 220 30 25 106.375 171.45 133.35 18 6-M16 34 6 61 4875 9.75 138 108 5 18 36 50 M20x2.5 6-M12 50 54 130 Fig2
V-212A8 304 118 220 30 18 139.719 190 17145 25 6-M16 34 6 61 4875 9.75 145 115 5 18 36 50 M20x2.5 3-M8 50 54 130 Figl
V-212A11 304 150 220 30 50 196.869 171.45 235 28 6-M16 34 6 61 4875 9.75 113 83 5 18 36 50 M20x2.5 6-M20 50 54 130 Fig3
V-215A8 381 141 300 43 33 139.719 235 17145 24 6-M20 — 6 77.5 49.75 2125 71 36 2 25,5 55 62 M30x3.5 6-M16 60 63 165 Fig2
V-215A11 381 130 300 43 22 196.869 260 235 32 6-M20 — 6 77.5 49.75 2125 82 47 2 255 55 62 M30x3.5 3-M10 60 63 165 Figl
V-215A15 381 165 300 43 57 285.775 235 3302 29 6-M20 — 6 77.5 49.75 2125 47 12 2 255 55 62 M30x3.5 6-M24 60 63 165 Fig3
V-218A8 450 141 300 43 33 139.719 235 171.45 24 6-M20 — 6 108 49.75 2125 59 24 2 255 55 62 M30x3.5 6-M16 60 63 165 Fig2
V-218A11 450 130 300 43 22 196.869 260 235 32 6-M20 — 6 108 49.75 2125 70 35 2 255 55 62 M30x3.5 3-M10 60 63 165 Figl
V-218A15 450 165 300 43 57 285.775 235 330.2 29 6-M20 — 6 108 49.75 2125 35 0 2 255 55 62 M30x3.5 6-M24 60 63 165 Fig3



V(40”-79")

Large wedge type non through-hole
power chuck (adapter excluded)

1. Chucking operations of very large components external or internal
clamping.

2. Suitable for vertical lathe, due to the front protection of slide way.

3. Master jaw with manual radial setting function.

| Product schematic

SPEC
Model

40" V-240
VIT-240
VE-240

50" V-250
VIT-250
VE-250

63" V-263
VIT-263
VE-263

79" VE-279

[¢]
Setting stroke

PA
@C
13€

110

-

' 1008 ' 19.03 |7
125 145 140 83
Soft jaw HC40-1 Hard jaw HJ40-1
UNIT : mm

3 630 645 82

4 57 23 + (30) 180 320 42.8 550 700 89 MS250C HJ40-1 HC40-1  @285-@1005
6 450 700 89

3 500 890 168

4 57 23 + (30) 180 320 42.8 400 940 177 MS250C HJ40-1 HC40-1  @270-01250
6 360 971 183

3 400 1800 548

4 60 24 + (40) 200 360 46.9 300 1700 518 MS250C HJ40-1 HC40-1  ©390-01600
6 280 1800 548

6 60 24 + (40) 200 360 46.9 230 2850 1350 MS250C HJ40-1 HC40-1  @440-02000

DIM
Model

40" V-240
VIT-240
VE-240

50" V-250
VIT-250
VE-250

63" V-263
VIT-263
VE-263

79" VE-279

1005 180 520 502 463.6 108 M24 M52x1.5 8 457 30 59 2 4 7-M24 19 85 72

1250 180 520 623 4636 108 M24  M52x1.5 8 563 30 59 2 4 10-M24 19 85 72

1600 220 720 796 6476 144  M30 M52x1.5 8 738 40 82 22 6 13-M24 22 110 72

2000 238 720 996 6476 159 M30  M52x1.5 8 914 40 100 40 6 17-M24 22 110 72



DV/DN

Vertical and vertical horizontal stationary
power chuck

1. Suitable for vertical milling and drilling operations.
2. With large through-hole, Vertical / horizontal power chucks does not
only clamp the long workpiece but also the horizontal holding.

[ Product schematic |

238

131.5

B2

s

\ PAS (6") A5 (8")

DV Fig-1
UNIT : mm
Model
DV-6 @115 104/78.5 1900/ 1400 20 20 12 V-206
DV-8 @155 187/148.6 3600 / 2800 21 20 21 V-208, V-210, V-212
DN-8 @155 148.6/148.6 2800 /2800 17 20 28.5 N-208

DIM
Model
DV-6 @220 168 140 55 @200 49 16 655 55 104.78 12-M10x15L 38 45 18 -2 PT1/4" 7.6 2-©015 M16xP2.0 Fig-1

DV-8 290 210 170 70 242 58 24 86 55 13335 12-Mi2xi6L 23 65 20 -1 PT1/4" 55 2-16 M16xP2.0 Fig-1
DN-8 293 213 170 70 242 52 24 100 5.5 133.35 12-M12x18L 325 74.5 304 134 PT1/4" 16 4-17 M60xP2.0 Fig-2



VRA

Non through-hole power chuck for
vertical lathe (adapter included)

1. The front protection of slide way.
2. Suitable for vertical lathe.

| Product schematic

UNIT : mm
Model
V-212RA6 3 30 16 5302 14276 35.7 3000 67.7 0.774 MS150C HJ12-1 HC12-1 032-0304
V-212RA8 3 30 16 5302 14276 35.7 3000 65.6 0.764 MS150C HJ12-1 HC12-1 @32-0304
V-212RA11 3 30 16 5302 14276 35.7 3000 741 0.902 MS150C HJ12-1 HC12-1 J32-0304
V-215RA8 3 35 18.7 9585 25798 35.7 2800 120.4 2.146 MS200C HJ15-1 HC15-1 068-0381
V-215RA11 3 35 18.7 9585 25798 35.7 2800 113.4 2.016 MS200C HJ15-1 HC15-1 J68-0381
V-215RA15 3 35 18.7 9585 25798 35.7 2800 133 2.572 MS200C HJ15-1 HC15-1 068-0381
V-218RA8 3 35 18.7 9585 25798 35.7 2300 144.5 3.507 MS200C HJ15-1 HC15-1 Q78-0450
V-218RA11 3 35 18.7 9585 25798 35.7 2300 137.5 3.43 MS200C HJ15-1 HC15-1 Q78-@450
V-218RA15 3 35 18.7 9585 25798 35.7 2300 157.5 3.945 MS200C HJ15-1 HC15-1 Q78-0450
V-221RA8 3 35 16 9075 28450 33.7 1940 198 6.46 MS200C HJ24-1 HC24-1 @65-0530
V-221RA11 3 35 16 9075 28450 33.7 1940 190 6.35 MS200C HJ24-1 HC24-1 @65-0530
V-221RA15 3 35 16 9075 28450 33.7 1940 184 6.28 MS200C HJ24-1 HC24-1 @65-0530
V-224RA8 3 35 16 9075 28450 33.7 1760 240 10.54 MS200C HJ24-1 HC24-1 @152-0610
V-224RA11 3 35 16 9075 28450 33.7 1760 233 10.44 MS200C HJ24-1 HC24-1 @152-0610
V-224RA15 3 35 16 9075 28450 33.7 1760 227 10.36 MS200C HJ24-1 HC24-1 @152-0610
V-232RA11(41) 3 35 18.7 9585 25798 35.7 1060 399 31.6 MS200C HJ24-1 HC32-1 @100-0810
V-232RA15 3 35 18.7 9585 25798 35.7 1060 383 30.82 MS200C HJ24-1 HC32-1 @100-0810
V-232RA20 3 35 18.7 9585 25798 35.7 1060 419 32.69 MS200C HJ24-1 HC32-1 @100-0810
VIT-212RA8 4 30 16 5302 14276 35.7 2500 68 0.792 MS150C HJ12-1 HC12-1 @45-0304
VIT-218RA11 4 35 18.7 9585 25798 35.7 2000 141.5 3.522 MS200C HJ15-1 HC15-1 @78-0450
VIT-224RA11 4 35 16 9075 28450 33.7 1520 255 11.3 MS200C  HJ24-1 HC24-1  @152-@610
VIT-224RA15 4 35 16 9075 28450 33.7 1520 240 11.02 MS200C HJ24-1 HC24-1 @152-0610
VIT-232RA11 4 35 18.7 9585 25798 35.7 920 414 32.68 MS200C HJ24-1 HC32-1 @100-0810
VIT-232RA15 4 35 18.7 9585 25798 35.7 920 399 32.4 MS200C HJ24-1 HC32-1 @100-0810



HE¥iV-212R~V-218R Serration Pitch 1.5

0| D

N

(4 V-221R~V-232R Serration Pitch 3.0
X

15°=V-212R~V-218R
30°=V-221R~V-232R

VIT-212R

VIT-221R~
VIT-232R

UNIT : mm

DIM
Model
45.75 12.75 138 108 5.5 18 36 50 M20x2.5 6-M12 50 54.5 130

45.75 12.75 14511555 18 36
45.75 12.75 113 83 55 18 36

V-212RA6
V-212RA8
V-212RA11
V-215RA8
V-215RA11
V-215RA15
V-218RA8
V-218RA11
V-218RA15
V-221RA8
V-221RA11
V-221RA15
V-224RA8
V-224RA11
V-224RA15

304 125 220 30 25 106.375 171.45 133.35 18 6-M16 6
304 118 220 30 18 139.719 190 171.45 24 6-M16 6
304 150 220 30 50 196.869 171.45 235 28 6-M16 6
381 141 300 43 33 139.719 235 171.45 24 6-M20 6

381 130 300 43 22 196.869 260
381 165 300 43 57 285.775 235
450 141 300 43 33 139.719 235
450 130 300 43 22 196.869 260
450 165 300 43 57 285.775 235

235
330.2
171.45
235
330.2

32 6-M20 6
29 6-M20 6
24 6-M20 6
32 6-M20 6
29 6-M20 6

530 154 380 60 33 139.719 330.2 171.45 24 6-M24 6

530 148 380 60 27 196.869 330.2
530 148 380 60 27 285.775 330.2
610 154 380 60 33 139.719 330.2
610 148 380 60 27 196.869 330.2
610 148 380 60 27 285.775 330.2

V-232RA11(41) 810 170 380 80 41 196.869 330.2

V-232RA15

V-232RA20

VIT-212RA8
VIT-218RA11
VIT-224RA11
VIT-224RA15
VIT-232RA11
VIT-232RA15

810 156 380 80 27 285.775 330.2
810 187 520 80 58 412.775 330.2
304 118 220 30 18 139.719 190
450 130 300 43 22 196.869 260
610 162 380 60 41 196.869 330.2
610 148 380 60 27 285.775 330.2
810 170 380 80 41 196.869 330.2
810 156 380 80 27 285.775 330.2

235
330.2
171.45
235
330.2
235
330.2
463.6
171.45
235
235
330.2
235
330.2

30 6-M24 6
33 6-M24 6

24 6-M24 6 126.5 93.5
30 6-M24 6 126.5 93.5
33 6-M24 6 126.5 93.5
30 6-M24 6 104.8 196.5
33 6-M24 6 104.8 196.5
35 6-M24 6 104.8 196.5
24 4-M16 6 64 45.7512.751451155.5 18

64
64
64
78
78
78
92
92
92
87
87
87

49.75 24.25
49.75 24.25
49.75 24.25
70.75 24.25
70.75 24.25
70.75 24.25
935 275
93.5

93.5

275
275
275
275
275
2515
255
2515

32 4-M20 6 92 70.75 24.25
30 8-M24 6 126.5 93.5 275
33 8-M24 6 126.5 935 27.5
30 8-M24 6 104.8 196.5 25.5
33 8-M24 6 104.8 196.5 25.5

71
82
47
59
70
35
64
70
70
64
70
70
47
47
16

70
70
70
47
47

36 5.525.555
47 5525555
12 5.525.555
24 5525555
35 5.525.555
0 5525555
29 25 55
35 25 55
35 25 55
29 25 55
35 25 55
35 25 55
25 56
25 55
25 55
36
35 5.525.555
35 25 56
35 25 55
12 25 56
12 25 55

a o o0 © © © © © ©

9
©
5
5

50 M20x2.5 3-M8 50 54.5 130
50 M20x2.5 6-M20 50 54.5 130
62 M30x3.5 6-M16 60 66.5 165
62 M30x3.5 3-M10 60 66.5 165
62 M30x3.5 6-M24 60 66.5 165
62 M30x3.5 6-M16 60 66.5 165
62 M30x3.5 3-M10 60 66.5 165
62 M30x3.5 6-M24 60 66.5 165
64 M30x3.5 9-M16 60 77 180
64 M30x3.5 6-M20 60 180
64 M30x3.5 3-M12 60 180
64 M30x3.5 9-M16 60 180
64 M30x3.5 6-M20 60 180
64 M30x3.5 3-M12 60 180
74 M30x3.5 6-M20 60 210
74 M30x3.5 3-M12 60 93 210
74 M30x3.5 6-M24 60 93 210
50 M20x2.5 4-M8 50 54.5 130
62 M30x3.5 4-M10 60 66.5 165
64 M30x3.5 6-M20 60 77 180
64 M30x3.5 4-M12 60 77 180
74 M30x3.5 6-M20 60 93 210
74 M30x3.5 4-M12 60 93 210

77
7
7
7
7
93

158
158
158
155
155 22
155 22
165.1 22

22
22
22
22

165.1 22
165.1 22
165.1 22
165.1 22
165.1 22

158 22
165.1 22
165.1 22
200 22
200 22

Fig2
Fig1
Fig3
Fig2
Fig1
Fig3
Fig2
Fig1
Fig3
Fig2
Fig2
Fig1
Fig2
Fig2
Fig1
Fig2
Fig1
Fig3
Fig1
Fig1
Fig2
Fig1
Fig2
Fig1



SPEC
Model

V-312RA8
V-315RA8
V-315RA11
V-315RA15
V-318RA8
V-318RA11
V-318RA15
V-321RA11
V-321RA15
V-324RA11
V-324RA15
V-332RA11
V-332RA15
VIT-312RA8
VIT-318RA11
VIT-324RA11
VIT-324RA15
VIT-332RA11
VIT-332RA15

[ Product schematic |

V-300RA

Non through-hole power chuck for
vertical lathe (adapter included)

1. Suitable for use in vertical lathes.

2. Special prevent swarf chip and chuck adapter waterproof design.

UNIT : mm

A B A B BB OO OO OO OO0 LW

30
35
35
35
35
35
35
35
35
35
35
35
35
30
35
35
35
35
35

16
18.7
18.7
18.7
18.7
18.7
18.7

16

16

16

16
18.7
18.7

16
18.7

16

16
18.7
18.7

5302
9585
9585
9585
9585
9585
9585
9075
9075
9075
9075
9585
9585
5302
9585
9075
9075
9585
9585

14276
25798
25798
25798
25798
25798
25798
28450
28450
28450
28450
25798
25798
14276
25798
28450
28450
25798
25798

35.7
35.7
35.7
35.7
35.7
35.7
35.7
33.7
33.7
33.7
33.7
35.7
35.7
35.7
35.7
33.7
33.7
35.7
35.7

3000
2800
2800
2800
2300
2300
2300
1940
1940
1760
1760
1060
1060
2500
2000
1520
1520
920
920

71
131
128
140
157
155
167
212
210
257
255
399
397

78
158
268
267
427
425

0.773
2.24
2.23
2.64
3.68
3.66
4.07
6.73
6.75

10.83

10.85

30.17

30.19
0.78
3.74

11.47

11.49

32.85

32.87

MS150C
MS200C
MS200C
MS200C
MS200C
MS200C
MS200C
MS200C
MS200C
MS200C
MS200C
MS200C
MS200C
MS150C
MS200C
MS200C
MS200C
MS200C
MS200C

HJ12-1
HJ15-1
HJ15-1
HJ15-1
HJ15-1
HJ15-1
HJ15-1
HJ24-1
HJ24-1
HJ24-1
HJ24-1
HJ24-1
HJ24-1
HJ12-1
HJ15-1
HJ24-1
HJ24-1
HJ24-1
HJ24-1

HC12-1
HC15-1
HC15-1
HC15-1
HC15-1
HC15-1
HC15-1
HC24-1
HC24-1
HC24-1
HC24-1
HC32-1
HC32-1
HC12-1
HC15-1
HC24-1
HC24-1
HC32-1
HC32-1

@32-0304
268-0381
068-0381
268-0381
@78-0450
@78-0450
@78-0450
65-0530
065-0530
0152-0610
@152-0610
@100-0810
@100-0810
@45-0304
@78-0450
©152-0610
@152-0610
©100-@810
@100-0810



HEtEV-312R~V-318R Serration Pitch 1.5

Fig-1

VIT-312R

@H

X

(%]

15°=V-312R~V-318R
30°=V-321R~V-332R

-5 V-321R~V-332R Serration Pitch 3.0
X 7

-
—

+f

s N A

\

>

=
[

I

Z1(H12)
e R A
- g
| e
P VIT-321R~
37 |+ VIT-332R

UNIT : mm

DIM
Model

V-312RA8
V-315RA8
V-315RA11
V-315RA15
V-318RA8
V-318RA11
V-318RA15
V-321RA11
V-321RA15
V-324RA11
V-324RA15
V-332RA11
V-332RA15
VIT-312RA8
VIT-318RA11
VIT-324RA11
VIT-324RA15
VIT-332RA11
VIT-332RA15

304 138 220 30 38 139.719
381 160 300 43 52 139.719
381 160 300 43 52 196.869
381 165 300 43 57 285.775
450 160 300 43 52 138.719
450 160 300 43 52 196.869 260 235
450 165 300 43 57 285.775 235 330.2
530 173 380 60 52 196.869 330.2 235
530 178 380 60 57 285.775 330.2 330.2
610 173 380 60 52 196.869 330.2 235
610 178 380 60 57 285.775 330.2 330.2
810 181 380 80 52 196.869 330.2 235
810 186 380 80 57 285.775 330.2 330.2

190
235
260
235
235

171.45
171.45
235
330.2
171.45

304 138 220 30 38 139.719 190 171.45 24 4-M16 6 64 45.7512.751451155.5 18

450 160 300 43 52 196.869 260 235
610 173 380 60 52 196.869 330.2 235
610 178 380 60 57 285.775 330.2 330.2
810 181 380 80 52 196.869 330.2 235
810 186 380 80 57 285.775 330.2 330.2

64
78
78
78
92
92
92

24 6-M16 6
24 6-M20 6
32 6-M20 6
29 6-M20 6
24 6-M20 6
32 6-M20 6
29 6-M20 6
30 6-M24 6 87
33 6-M24 6 87 935 275
30 6-M24 6 126.5 935 27.5
33 6-M24 6 126.5 935 275
30 6-M24 6 104.8 196.5 25.5
33 6-M24 6 104.8 196.5 25.5

49.75 24.25
49.75 24.25
49.75 24.25
70.75 24.25
70.75 24.25
70.75 24.25
935 275

32 4-M20 6 92 70.75 24.25
30 8-M24 6 126.5 935 27.5
33 8-M24 6 126.5 935 27.5
30 8-M24 6 104.8 196.5 25.5
33 8-M24 6 104.8 196.5 25.5

82
82
77
82
82
77
82
77
82
77
82
77

82
82
77
82
77

45.7512.75 14511555 18 36

47 5525555
47 5525555
42 5525555
47 5525555
47 5525555
42 5525555

47 9
42 9
47 9
42 9
47 5
42 5

25
25
25
25
25
25

55
55
55
55
55
55
36

47 5525555

47
42
47

9
9
5
42 5

25 55
25 55
25 55
25 55

50 M20x2.5 3-M8 50 54.5 130
62 M30x3.5 6-M16 60 66.5 165
62 M30x3.5 3-M10 60 66.5 165
62 M30x3.5 6-M24 60 66.5 165
62 M30x3.5 6-M16 60 66.5 165
62 M30x3.5 3-M10 60 66.5 165
62 M30x3.5 6-M24 60 66.5 165
64 M30x3.5 6-M20 60 77 180 155 22
64 M30x3.5 3-M12 60 180 155 22
64 M30x3.5 6-M20 60 180 165.1 22
64 M30x3.5 3-M12 60 180 165.1 22
74 M30x3.5 6-M20 60 93 210 165.122
74 M30x3.5 3-M12 60 93 210 165.122
50 M20x2.5 4-M8 50 54.5 130
62 M30x3.5 4-M10 60 66.5 165 158 22
64 M30x3.5 6-M20 60 77 180 165.122
64 M30x3.5 4-M12 60 77 180 165.122
74 M30x3.5 6-M20 60 93 210 200 22
74 M30x3.5 4-M12 60 93 210 200 22

158
158
158

22
22
22

7
77
7

Fig1
Fig2
Fig1
Fig3
Fig2
Fig1
Fig3
Fig2
Fig1
Fig2
Fig1
Fig2
Fig1
Fig1
Fig1
Fig2
Fig1
Fig2
Fig1



